Review on March 14™ (A-day) and March 15" (B-day)

1. Given the graph of f(x) f(x)=
a) State the y-intercept ( , )

b) State the x-intercepts( , ) and ( , )

c) Write the equation of the function

f(x)= in vertex form

in factored form

in standard form

2. Given the graph of g(x) g(x)=
a) State the y-intercept ((},% )

b) State the x-intercepts (X, 0) and (4, Q)

c) Write the equation of the function

g (x)= = ()( + \) a+ C‘ in vertex form

ﬂ()() == (\1“"43(}("3) in factored form
@CX) = = [X ?“w—&}i#qv"@ji standard form
alX) = =x*—ax+%

4

Determine the x-intercepts and y-intercept.
Draw a rough sketch of the function.

3. f(X)=(x-5)x+1) 4. g(x)=—(x+2)(x+4)
x-intercept(s): ( S ) 0\ ( -\ ) 0) x-intercept(s):
y-intercept: (0 ) -5 ) y-intercept:

- b”ﬁt ]\ (,°)
N

(0,-2)




Given an equation: Rewrite the equation in the form of

(a) vertex,
(c) y-intercept,

5. f(x)=x"+8x+1

(=)

f(x)=x>+8x +1
fo=(C ¥+
f=( Yy
vertex: (  , )

maximum / minimum
y-intercept: ( R )

Also, find the x-intercepts for problems 7. 8, 9
7. f(x)=x"—4x-32 8. f(x)=x" +2,£ -15

_—

L

f)=(x~h) -k

(b) if the vertex is a maximum or minimum,
(d) then, sketch a rough graph

6. f(x)=x"—-4x-5

() )
Prx) = x*-4x r__“g-ﬂ-—
) = (x-2) -9

vertex: (4 , ™
maximum /
y-intercept: ( "

I
(9-3"&)

9. f(x)=x"—6x—7

by} s xFe2x L’ risal
Bix) = (x+ i) - 16

vertex: (~{ wl.i.-)A

maximuim /g1t

vertex: ( , )
maximum / minimum
y-intercept: ( , )

4 3

\

x-intercepts:

(, Jdad ( , )

¢! ¢)

x—intercepts:

y-intercept: ( ” -~ 5)

vertex: ( , )
maximum / minimum
y-intercept: (  , )

x-intercepts:
Jand ( , )

X -t-ra(’l5 =0

(x +5)(><

(+S s

-3)=0

-3 =0
v:-——&a’_’:



List the four methods for solving quadratic equations in class

@@@Cﬁﬁfaﬁ\ E;rrm.;logc) %&Mﬁf (Zﬂﬁﬁ
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Solve the following equations using any method — You must practice all 4 methods.
(Use the easiest method when solving each problem — You must show your work)

L .
10. x*-13x+22=0 rY\ 2@ 11. 2% =9x—20 12. 2 +x+1=0
Pt o= - -y ,40)(\)
: - 2(1)
o c=\

- -_— -2, =
X-tt=0c K-:

=1 x:‘é—> X:-'\iz..@

s RIET craumi b
13. $+25=0 14. (x+87+6=0 15. 6x% = 2x
2 s
‘xz‘-—*25 Gy =2x =0

2x(Bn-1) =0

- ey
= —:? o0 Br~l =0
CFEE . ﬁ

)(:,5c.)'*5t. X:O xw%
16. 4x* =6x+2 17. 2x*—x=4 18. 2 =5x*—3x
Ax*-x -4 =0
and Avish
o 3xa\d 5
x J A\- ‘ X - lJ k=3
19. 7x*~14x=0 20. x*+4x-3=0 21. 3(x—1)*-5=70
2(x-N*=1S
(x-) =35
Jan T
vl = ES






